Kern River Drainage

Answer Key

Name _________ANSWER KEY_____________ Period ________ Date ___________
Where does the Kern River water come from? Where does it go? In this lab you will be mapping out the drainage area of the present day Kern River using a topographic map. 

Materials:

· 1 topographic map                                         

· 1 string

· 1 meter stick

· 3 dry erase markers, different colors 

Hypothesis: ___________________________________________________________
______________________________________________________________________
Procedure:

Part 1:

1. Gather materials
2. Using the topographic map & 1 dry erase marker mark the path of the Kern River. 
3. Identify all the streams and tributaries by marking them with a different color dry erase marker. 
4. Using a different color marker find & mark the drainage basin for the Kern River. 
Part 2:

1. Using the topographic maps follow the path of the south fork of the river from the Mt. Whitney area to Bakersfield using your finger.

2. Now that you have identified the Kern River path follow it again, but this time use a string to follow and measure the path, be sure to bend the string such that it mimics the curves of the river. 

3. Now extend the string so that it is now a straight line that can be easily measured.  By measuring the string we are able to identify the distance the river travels from the Mt. Whitney area to Bakersfield.

4. Using the same techniques from steps 1 through 3 follow the north fork of the river from the Mt. Brewer area to the Buena Vista Oilfield area.

Part 1 Questions:

1. Where does the water in the Kern River come from? Near the Mt Whitney area and Mt. Brewer area. ​​​​​​​​​​​​​

2. What is the difference between a river and a tributary? Tributaries are small and drain into rivers.  Rivers can be larger and drain into lakes or oceans.

3. How did you determine the drainage basin? The drainage basin is determined by identifying the tributaries and outlining the highest elevations around the tributaries. 
4. Has the Kern Canyon always been part of the geography? Explain. No, the Kern Canyon was created by the downcutting of the river over time.
5. Would the path of the Kern River through Bakersfield change if the dam at Lake Isabella had never been made? Yes, because the flow of the river would increase and as a result flooding would occur in low lying parts of Bakersfield. 
6. What area of Bakersfield would be most likely to flood should the dam break? What area would be least likely to flood? Downtown, South, and Southwest would be the areas most likely to flood (lower elevation & natural path of the river). The Eastside, Oildale, and northwest would be least likely to flood (higher elevation & north of the natural flood plain).
7. What effects would large human settlements have along the North and South Forks of the Kern River? Humans contaminate the river, thus polluting the fresh water supply. Other possible answers may include issues with accessibility, land is not flat. Answers may vary.  
8. What is the Kern River’s economic significance to the southern San Joaquin Valley? It is a major source of fresh water to the agriculture industry. Answers may vary. 
Conclusion: ___________________________________________________________
______________________________________________________________________
Part 2 Questions: 

1. What is the length of the string for the south fork of the river (centimeters)? 92 cm
2. Using the representative ratio of 1:255,600 convert the length of your “representative” string into actual centimeters. (show your work)

        92 cm of string     255,600 actual cm       = 23,515,200 actual cm




       
     1 cm of string

3. Convert your answer from centimeters to meters. (show your work)

     23,515,200 cm      __1 m___      =  235,152 m

 



                100cm  

4. Convert your answer from meters to miles. (show your work)

235,152m      _1 mile_       =  146.15 miles


 
 1609 m  

5. What is the length of the string for the north fork of the river (centimeters)? 90 cm
6. Using the representative ratio of 1:255,600 convert the length of your “representative” string into actual centimeters. (show your work)

 90 cm of string     255,600 actual cm       = 23,004,000 actual cm
 


1 cm of string

7. Convert your answer from centimeters to meters. (show your work)

23,004,000 cm      __1 m___      =  230,040 m

 



                     100cm  

8. Convert your answer from meters to miles. (show your work)

230,040 m      _1 mile_       =  142.97 miles


  
1609 m  

SJVRocks!!
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